Orden de Operaciones (G)
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Realice las operaciones en el orden correcto.

6 3+(2-9)+4 13 (§1+)
7 4= (b4 -3 12, (§+3) x4
8.3+ 241 13. 3+34+3+%

o (1+9)+ 3+ 14, 4+ (3x ) x]
10. §-3+§+4 15, (44 +3)+3
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Orden de Operaciones (G) Respuestas
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Realice las operaciones en el orden correcto.

6301+ IR PICREEs!
—22 _y2 =32 _135
5 5 9 9
Ta- ey 2 (D)}
=28 = 238 =2

5 4 3 2
13. 7ts+5+53
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1 5y . (9 .3 1 . (2 2 7
9. (ifg?)*(?*?) 14. §§5(§><§1)><§
3 2 5.8 1 11 9y . 5
10. 3—5+3+3 15. (34+ 4 +7) =3
=35 _ 11 —22_ 42
24 24 5 5
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